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Question Number : 1 Question Id : 5400731301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Research is an organized and systematic enquiry” Defined by
Options :

1. Marshall

2. P.V.Young

3. Emory

4. Kerlinger

Question Number : 1 Question Id : 5400731301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

"SI Th WIS MR ARy o 3" frq & gy uRuTfiyd o1 it 8
Options :

1. =T

2. 4t T

3. THRY
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4. BIFR

Question Number : 2 Question Id : 5400731302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“A systematic step-by-step Procedure following logical process of reasoning” is called
Options :

1. Experiment

2. Observation

3. Deduction

4. Scientific method

Question Number : 2 Question Id : 5400731302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

b BT dlfeheb fhaT T STERUI A dTell Ueh oHa e TRUI-ER-=RUT Ufsha” el 8-
Options :

1. T

2. 3faeiich

3. Herd ((SsaRM)
4. AT fafer

Question Number : 3 Question Id : 5400731303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“One of the methods of logical reasoning process” is called
Options :

1. Induction

2. Deduction

3. Research

4. Experiment

Question Number : 3 Question Id : 5400731303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T adb fshar ) fafdrat & 9 U {63 weTomar g
Options :

1. IR (ZSHRM)

2. werdt (fesaRm)

3. 3EYUH

4. 7@mT

Question Number : 4 Question Id : 5400731304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Deduction and induction are a part of system of reasoning” — stated by
Options :

1. Caroline

2. P.V.Young

3. Dewey John

4. Emory

Question Number : 4 Question Id : 5400731304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. B

2. °r . T

3. 8dl &
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4. TR

Question Number : 5 Question Id : 5400731305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Facts or information are analyzed and critical evaluation is made in which of the followings
Options :

1. Survey

2. Action research

3. Analytical research

4. Pilot study

Question Number : 5 Question Id : 5400731305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafeRad o @ fog o «aut a1 gemst &1 fazawor 3R " HTaTEs Jedih" faar S g
Options :

1. Fd&ur

2. fhardss Y™

3. fo=eIouTE® S

4. 91gdc A+

Question Number : 6 Question Id : 5400731306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Motivation Research is a type of which research-
Options :

1. Quantitative Research

2. Pure Research

3. Qualitative Research

4. Applied Research

Question Number : 6 Question Id : 5400731306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Hifeas e Fafafed & 9 fra yeR STy §
Options :

1. HEATHS S

2. Y& 38U

3. UITHSD ST

4. HIGIRD STHYH

Question Number : 7 Question Id : 5400731307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Research related to abstract ideas or concepts is
Options :

1. Empirical research

2. Conceptual Research

3. Quantitative research

4. Qualitative research

Question Number : 7 Question Id : 5400731307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3t faramd ot raerRomal & Y My g
Options :

1. SFUTRT STEYH (TR fd)

2. FTRE ST (BATgar )

3. AETHSD 38U
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Question Number : 8 Question Id : 5400731308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
“Criteria of Good Research” is written by
Options :

1. Delta Kappan

2. Karl Popper

3. P.V. Young

4. James Harold Fox

Question Number : 8 Question Id : 5400731308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

"3 XY BT AHGS” fhad gy o man g2
Options :

1. el U

2. FTd Ui

3. didt g

4. SIF BRITS BIe

Question Number : 9 Question Id : 5400731309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a hypothesis is stated negatively is called
Options :

1. Relational Hypothesis

2. Situational Hypothesis

3. Null Hypothesis

4. Casual Hypothesis

Question Number : 9 Question Id : 5400731309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

»1q fordll TR e BT THRITD BT oIl 5", 34 HBd &
Options :

1. YR TRBTT

2. R uRe g

3. R URGeaHT

4. 3{TH TP URBeUT

Question Number : 10 Question Id : 5400731310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hypothesis which explain relationship between two variables is
Options :

1. Causal

2. Relational

3. Descriptive

4. Tentative

Question Number : 10 Question Id : 5400731310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ng&wma‘ra‘raﬁ (variables) %@awaaﬁwaﬂ‘cﬂ%
Options :

1. 3RS

2. GeyRS (RareHa)
3. qUHTHS
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4. SRyt

Question Number : 11 Question Id : 5400731311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Data collected directly from original sources is known as
Options :

1. Primary data

2. Secondary data

3. Tertiary data

4. Derived data

Question Number : 11 Question Id : 5400731311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A il 3 WY T 6T U ST B el Al §
Options :

1. TIYfAe Sel

2. fadige e

3. g sl

4. T 3l

Question Number : 12 Question Id : 5400731312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What type of data is collected by someone other than the researcher for a purpose other than the current study?
Options :

1. Primary data

2. Secondary data

3. Tertiary data

4. Quaternary data

Question Number : 12 Question Id : 5400731312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T ST & ST b 3 Se=d & o Ryl & SfelTaT fobeit 3 Hfad g1 fohdl UHR HT Sl Th fol STl 52
Options :

1. UTYfie Set
2. fgdia® et
3. Jaad sel
4. IJUIH (BIE S

Question Number : 13 Question Id : 5400731313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In statistics, data can be classified as
Options :

1. Qualitative and Quantitative

2. Descriptive and Explanatory

3. Primary and Secondary

4. Nominal and Ordinal

Question Number : 13 Question Id : 5400731313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tifere! §, a1 B 39 YR dHilepd fbam ST Teha1 &
Options :

1. IUMTHD @?HHI(HGI’?

2. IoiATHS SR ARATHS

3. A SR HreAfie
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Question Number : 14 Question Id : 5400731314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which graphical representation is suitable for displaying the distribution of a single categorical variable?
Options :

1. Frequency polygon

2. Pie chart

3. Histogram

4. Bar chart

Question Number : 14 Question Id : 5400731314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

THd 0itag IR & [IaRur B yefRid B & o o9 a1 withea ufaffea Suged 82
Options :

1. IRERAT IgYS (hleb ! GranTH)

2. U1 A1

3. fewm

4. §R AT

Question Number : 15 Question Id : 5400731315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which measure of central tendency is not affected by extreme values?
Options :

1. Mean

2. Median

3. Mode

4. Range

Question Number : 15 Question Id : 5400731315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FENT UgRI BT B A HIY TR Gl A G e el 82
Options :

1. {18 (HF)

2. TrferenT (HifgTm)

3. 118

4.3

Question Number : 16 Question Id : 5400731316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What does the standard deviation measure?
Options :

1. Spread of data around the mean

2. Central tendency of data

3. Skewness of data

4. Kaurtosis of data

Question Number : 16 Question Id : 5400731316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e fage (RUsSS SfAuRH) a1 Arudr 82
Options :

1. 71 & U STl b1 U8R

2. SCI B Herg UgRT

3. T Y R @)
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Question Number : 17 Question Id : 5400731317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the range of the Karl Pearson Coefficient of Correlation?
Options :

l.-1to 1

2.0to1

3.1t0 10

4.-10to 10

Question Number : 17 Question Id : 5400731317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HTet fOTRf Tg-Hay Tl T ST 3T 82
Options :

1.-191

2091

3.1910

4.-10910

Question Number : 18 Question Id : 5400731318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In regression analysis, what is the purpose of the regression line?
Options :

1. To predict independent variables

2. To predict dependent variables

3. To establish causation

4. To summarize data

Question Number : 18 Question Id : 5400731318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

i faweiyor (RRM TR ®, uiorme (RERm) e &1 Se=a T 62
Options :

1. 3fSUSe IRV BT UiTsaaroR FH=

2. feUSe afvuaed @t yiawrarft a1

3. BRI B & ferg

4. ST DI Y&Y H UId BT

Question Number : 19 Question Id : 5400731319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The paired t-test is used when
Options :

1. Samples are independent

2. Samples are matched or related

3. There are more than two groups

4. Populations have unequal variances

Question Number : 19 Question Id : 5400731319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A - O (VTS 1-3%C) BT IUTNT fob T STl 8, e
Options :

1. T WA §

2. T A @I § A1 TSR §

3.1 9 3ifireh TE B
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Question Number : 20 Question Id : 5400731320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The F-test is used to

Options :

1. Compare means of two groups

2. Compare variances of two groups
3. Compare proportions of two groups
4. Compare medians of two groups

Question Number : 20 Question Id : 5400731320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

F-C% 1 IUAIT foam e &

Options :

1. G gl & AT () B g HeA |

2. & OHgI & farsll &t ga = o

3. 1 gl & 3IUTd BI g A |

4. S THE & A (HifET ) B o A |

Question Number : 21 Question Id : 5400731321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Analysis of Variance is used to

Options :

1. Compare means of more than two groups

2. Compare variances of more than two groups
3. Compare proportions of more than two groups
4. Compare medians of more than two groups

Question Number : 21 Question Id : 5400731321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

INTH & FaeAwor 1 IUART foam wirel ©

Options :

1. &1 9 3 THgT o Hied (=) B ga b |

2. 319 31 gl & frsrarefl & go o o

3. Q1Y 3% T & SIUTd B g1 B A

4. &1 ¥ 3if¥re TggT & A (FifeTH) Bt gl dA |

Question Number : 22 Question Id : 5400731322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the level of significance is set at 0.05, what does this signify in hypothesis testing?
Options :

1. 5% chance of Type I error

2. 5% chance of Type II error

3. 95% confidence level

4. 95% accuracy of results

Question Number : 22 Question Id : 5400731322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

7 TE@ BT R 0.05 W a2, & ufkarear wiemor & gue @ orf 82
Options :

1. T13U-1 3fC BT 5% FUTET

2. TT8U-11 & Bl 5% HHIGAT

3.95% BIbed dad
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Question Number : 23 Question Id : 5400731323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical test is used for testing the significance of the difference between two proportions in a large sample?
Options :

1. t-test

2. Chi-square test

3. F-test

4. Z-test

Question Number : 23 Question Id : 5400731323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T §8 T B & SUTA & o9 SicR & Ted BT U0 I & 11T 35 Wifeas 1 tteron &1 IuaT fasar ire g2
Options :

1. t-¢%

2. JPRR (Chi-square) T

3. FC®

4,738

Question Number : 24 Question Id : 5400731324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A statement of the expected relationship between two or more variables is known as
Options :

1. Concept definition

2. Hypothesis

3. Problem statement

4. Research question

Question Number : 24 Question Id : 5400731324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A Sl 3R =R @RTsed) B fta SOfar Jeiel & faxor o1 9 3 F o1 o1 o1l &
Options :

1. HeheTT URHTST

2. URS AT

3. GHYET HYT

4. YUY

Question Number : 25 Question Id : 5400731325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The median of the data 1,4,2,5,0.
Options :

1.1

2.2

3.4

4.5

Question Number : 25 Question Id : 5400731325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ST 1,4,2,5,0 BT

Options :

1.1

2.2

3.4
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4.5

Question Number : 26 Question Id : 5400731326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a type of central tendency
Options :

1. Mean

2. Mode

3. Median

4. Z-test

Question Number : 26 Question Id : 5400731326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PR & 3 S & i ugRl 1 ISR T8
Options :

1. °H1E9H

2. 18

3. AT

4.728%

Question Number : 27 Question Id : 5400731327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Meaning of SEM is

Options :

1. Standard Errata of Mean

2. Standard Error of Median

3. Standard Errata of Median

4. Standard Error of Mean

Question Number : 27 Question Id : 5400731327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SEM (TEE.0H) FT 3 §

Options :

1. H1eH &1 I 33T (RUSS 3T AT 1)

2. T &7 T FfE (LTSS TR 3Tt Hif$a)
3. TP BT HFS IRl (LUSS 3¥eT ST HifSa)
4. T BT AHS I (LTSS TR 3T 1)

Question Number : 28 Question Id : 5400731328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The basic relationship between X and Y in regression is given by
Options :

1. X=bt+bY

2.Y =b+tbX

3. Y =atbX

4. X=a+tX

Question Number : 28 Question Id : 5400731328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gform R A X SR Y & o ga dey Fo A J warg

Options :

1. X =b+bY
2.Y =btbX
3. Y =atbX
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4. X=atX

Question Number : 29 Question Id : 5400731329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The process of summarization and analyzing the data is called analysis
Options :

1. Statistical

2. Non statistical

3. Correlation

4. Result moment correlation

Question Number : 29 Question Id : 5400731329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

21 BT GRIMBR 3R AL 37 BY ufeha ) Azewur gl Sl &
Options :

1. ity

2. R gifeTatg

3. g-4ay

4. UIRUTTH &U7 Hg-Hae

Question Number : 30 Question Id : 5400731330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A variable that changes due to the action of another variable is known as
Options :

1. Independent variable

2. Extraneous variable

3. Complex variable

4. Dependent variable

Question Number : 30 Question Id : 5400731330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Teb ARUS ol &R IRTad B! 3531 % HRU geid 8, Bgard
Options :

1. WA | Efeuse aRueq)

2. TR =R (U afusd)

3. Sifee R (e dRTed)

4. 3f¥a =R (Feuise afvuaa)

Question Number : 31 Question Id : 5400731331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
“Controlled group” is the term used in
Options :

1. Survey research

2. Historical research

3. Experimental research

4. Descriptive research

Question Number : 31 Question Id : 5400731331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
i Tg <ee 1 TR i ST 7
Options :

1. Ao SrgHe

2. ¥fceTies TNy

3. U e
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4, qUIATHD TNY

Question Number : 32 Question Id : 5400731332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Research Methodology refers to

Options :

1. The sampling techniques

2. The tools that the researcher used

3. The chain of association between the research question and the research design
4. Qualitative method

Question Number : 32 Question Id : 5400731332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST fafty (e AurSieoh) o1 aread §
Options :

1. THATHROT davmiteh (JferT Sfaar)

2. 9 IUHUT e RNeyaat 4 SudiT faar

3. TNy Uy SR My FESe & g Yay & gaan

4. TS fAfY (@ifereiea Ays)

Question Number : 33 Question Id : 5400731333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Why defining the research problem is necessary?
Options :

1. To ensure clarity and precision

2. To limit the scope of the study

3. To facilitate data analysis

4. To satisfy the curiosity of the researcher

Question Number : 33 Question Id : 5400731333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
e T BT URHTT BT T SHTAID 62

Options :

1. T 3R TRl YA A & ferg
2. Y b R T I HIAT

3. ST fazaiyur &t gfaer & fere

4. Rterepell Y R B WiqE e B R

Question Number : 34 Question Id : 5400731334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A comprehensive full report of the research process is known as
Options :

1. Thesis

2. Summary report

3. Abstract

4. Article

Question Number : 34 Question Id : 5400731334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SFEY Ufehd &1 Uep auTTeh qUi RUIE bl gl SiTell &
Options :

1. TNY Y&y

2. R RUE

3.9R
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Question Number : 35 Question Id : 5400731335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The first step of research process is
Options :

1. Identification of problem

2. Collection of data

3. Editing and coding

4. Observation

Question Number : 35 Question Id : 5400731335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ST UfehaT BT UGl a1 §
Options :

1. GH $1 g

2. A B UG

3. HUTeH SR PIfST

4. 3faclip

Question Number : 36 Question Id : 5400731336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A Good research is ---------

Options :

1. Non logical

2. Systematic

3. Logical

4. Narrow

Question Number : 36 Question Id : 5400731336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
LERTEE) ] —— HEA 3
Options :

1. R dfdrp

2. ArRYd

3. difdbas

4, goprof

Question Number : 37 Question Id : 5400731337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

------- in a simple series is the size of measurement that occurs most frequently
Options :

1. Mode

2. Median

3. Mean

4. Average

Question Number : 37 Question Id : 5400731337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

...................... Ueb FIYRUT 3l H A P18 SMBR ¢ Fordeh] TR Fad 3ieieh ¢
Options :

1. 1S

2. HifReT

3.HY
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Question Number : 38 Question Id : 5400731338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If you have a normal data, which non parametric statistic should you use?
Options :

1. Chi square test

2. Spearman’s rho test

3. The t- test

4. Wilcoxon test

Question Number : 38 Question Id : 5400731338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

& 3T UT ITHT ST ], O MU o TR R 3iTeha o1 STTNT 3T AW
Options :

1. TP (Chi square) T

2. WIgRAT 7 RT3 ghe m rho test)

3. tC%

4. focTag udemr

Question Number : 39 Question Id : 5400731339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
R-Square is also known as

Options :

1. Mean Value

2. Mode analysis coefficient

3. Coefficient of determination

4. The t- test

Question Number : 39 Question Id : 5400731339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SR-THTIR 39 1 F f S el §
Options :

1. T HIT

2. TS fa=eiwor Tuiics

3. o &1 o

410

Question Number : 40 Question Id : 5400731340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Bibliography given in a research report

Options :

1. Has no relevance to research

2. Shows vast knowledge of the researcher

3. Helps those interested in further research

4. Does not help those interested in further research

Question Number : 40 Question Id : 5400731340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T Ty Rard & &) 1ty =

Options :

1. ST ¥ HIs UrERIHdr el §

2. R & =T I Y <M1

3. 3 & XY H S 7@ Tl &1 AGE BT §
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Question Number : 41 Question Id : 5400731341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In research design, what do dependent and independent variables represent?
Options :

1. Observations

2. Outcomes

3. Factors being manipulated and measured

4. Extraneous variables

Question Number : 41 Question Id : 5400731341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ty oz &, snfiya (Suee aRuaa) 3R wda =R EfeusSe afvuaa) Fr gwiia 2
Options :

1. 3fadich

2. gRomH

3. BRDT B eI (A-YARH) 3R AT fHar S eT 8

4. TR TR (THRTT akuaa)

Question Number : 42 Question Id : 5400731342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In regression analysis, what is the purpose of the regression line?
Options :

1. To predict independent variables

2. To predict dependent variables

3. To establish causation

4. To summarize data

Question Number : 42 Question Id : 5400731342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

feTee faweryor (RRM TaTfarR) &, uiormae Yt (RO a1s) 1 Sexa 1 52
Options :

1. Wad =R EfSUSe aRuaa) o Hiasamo &=

2. 3Nf3yd =R (Fetide alkuaa) &t Hfawramft HAr

3. HRUT (BT RATUT B & forg

4. ST DY Y&Y H WA AT

Question Number : 43 Question Id : 5400731343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a two-tailed test, significance is tested in
Options :

1. One direction

2. Both directions

3. No direction

4. Random direction

Question Number : 43 Question Id : 5400731343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Qi wteor &, <Reffrd=a o1 e o & 3 59 TR grar g
Options :

1. Uep fe=m

2. S fe=my

3. P18 = e
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4. % Ifgd fex (Random direction)

Question Number : 44 Question Id : 5400731344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the range of a data set?

Options :

1. Difference between the mean and mode

2. Difference between the highest and lowest values
3. Spread of data around the mean

4. Difference between the mean and median

Question Number : 44 Question Id : 5400731344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST T &I Wi R 52

Options :

1. 71eg (i) 3R HiS & &t iR

2. I=dH SR FrEad gt & & 3R

3. \Te (HF) & U 3T & TR

4. 71eg (H) SR AfeyeT (Hifew) & o iR

Question Number : 45 Question Id : 5400731345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Scientific method is committed to
Options :

1. Objectivity

2. Ethics

3. Proposition

4. Neutrality

Question Number : 45 Question Id : 5400731345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
IS vld [ & R ufoes &
Options :

1. g

2. Afaar

3. U9

4. dcR[dl

Question Number : 46 Question Id : 5400731346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What term refers to the systematic plan to collect, analyzes, and interprets data in a research study?
Options :

1. Research method

2. Research process

3. Research design

4. Research hypothesis

Question Number : 46 Question Id : 5400731346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

WY 3T T ST Tha B, fITAT 3 3R SARSAT R 1 HAfRIT AT Y b1 I Ve Tafid Hdl 82
Options :

1. 3T fafy

2. FHYH Ufchan

3. S fSomgA
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4. 3HYT GRS

Question Number : 47 Question Id : 5400731347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What does the term "validity" refer to in the context of measurement scales?
Options :

1. Consistency of measurement

2. Accuracy of measurement

3. Appropriateness of measurement

4. Stability of measurement

Question Number : 47 Question Id : 5400731347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g YAl (@R W) & Yoo § "eyar @fifedh wrsg o1 3ief 82
Options :

1. RRan

2. HIY 61 il

3. {19 DI FuGeId
4. 919 1 U=

Question Number : 48 Question Id : 5400731348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The term “Regression” was first used by-----------
Options :

1. Karl Pearson

2. Spearman

3. R A Fisher

4. Francis Galton

Question Number : 48 Question Id : 5400731348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Options :

1. et o
2. TieREA

3. 3R U bR
4. i e

Question Number : 49 Question Id : 5400731349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these is not a parametric test or standard tests of hypotheses?
Options :

1. t-test

2. Mann-Whitney U-test

3. F-test

4. Z-test

Question Number : 49 Question Id : 5400731349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T A 1 T R T a1 aReed13T &1 AFs 2 el 32
Options :

1. tC&E

2. 7A-fgedt udw

3.F-C®
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4.7-3%

Question Number : 50 Question Id : 5400731350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A blue print, outline and plan of research work is called---------------
Options :

1. Research Design

2. Research Problem

3. Research Methods

4. Research Tools

Question Number : 50 Question Id : 5400731350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
RUPCIRCICSE ARSUREC R R o o) (R— HEI I 8
Options :

1. 3Ty fEamga

2. Y gH™T

3. ST & I

4. SFTHYT IUBROT

Chemistry
Section Id : 54007328
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 54007328
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 5400731351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many exocyclic bonds present in?

Options :
1. One

2. Two

3. Three
4. None
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Question Number : 51 Question Id : 5400731351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

= # foras vaaaEees sivg 3uftaa &7

Options :
1.Udh

2.a

3.d4

4. TP W81

Question Number : 52 Question Id : 5400731352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Compounds showing only a single peak in its NMR Spectrum are:
|. Acetone II. Ether lll. Methylacetate

IV. Dibromo ethane V. Chlorobromo ethane

Options :
1. LILIV
2. ILILV
3. LILV
4. 1ILIV, V

Question Number : 52 Question Id : 5400731352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

faeaT 3, fha-Toha TIfAT & TA.TA.HR. TIFCH H Fad Tk g Ulh @A Fl
Aoy &

|. v . 2 . Faser vdice
V. STSeTAT 3IeT V. FERT §1AT 5237

Options :
1. L 1L 11T
2. 1L 1L, V,
3.LIL,V
4. 1L 1V, V

Question Number : 53 Question Id : 5400731353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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H1-C13 COSY is termed:
Options :

1. Hetcor

2. Dept

3. Inadequate

4. Noisy

Question Number : 53 Question Id : 5400731353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

"HI - C13 COSY" Hgadl &
Options :

1. Hetcor

2. Dept

3. Inadequate

4. Noisy

Question Number : 54 Question Id : 5400731354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In p-xylene, the ratio of methyl protons to ring protons is 6:4, while for mesitylene it is :
Options :

1. 0.252777777777778

2.0.126388888888889

3.0.377083333333333

4.0.252083333333333

Question Number : 54 Question Id : 5400731354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

R e AfUTEd e &t 3R T UeT=a &1 3Td 6:4 BidT 8 | 519 fob I8 rura Aficifem & grml
Options :

1. 0.252777777777778

2.0.126388888888889

3.0.377083333333333

4.0.252083333333333

Question Number : 55 Question Id : 5400731355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The exceptionally low carbonyl stretching frequency (1650 cm-1) in 2,4,6,-cycloheptatrienone is due to:
Options :

1. Conjugated effect

2. Steric effect

3. Field effect

4. Electronic effect

Question Number : 55 Question Id : 5400731355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2,4, 6 - ARIAIGPICTSH B HIET-d Qe Bt 3MFRT (1650 cm-1)
Options :

1. S gHTd

2. Qs g

3. §F UHIE

4. ZAID gHTd

Question Number : 56 Question Id : 5400731356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
All elements produce "AUGER" electron Spectra, Except:-
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Options :
1. H2 and He
2. Nitrogen
3. Halogens
4. Carbon

Question Number : 56 Question Id : 5400731356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A 9 for 7 ) BlgaR a1 d@ 3R> gaag UaRid #3d g
Options :

1. ETE S 3R giferay

2. RIS

3. gareg

4. PaA

Question Number : 57 Question Id : 5400731357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which group of compounds does not involve the n—* transition in U.V. Spectroscopy?
Options :

1. Alkenes

2. Alcohols

3. Azo Compounds

4. Cyanides

Question Number : 57 Question Id : 5400731357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frg DT} & Tg A @ e UV, Wareheplhh & o 8 o wel 82
Options :

1. QoI

2. SfePIET

3. TSl

4. WA SH

Question Number : 58 Question Id : 5400731358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is micro wave inactive?
Options :

1. HCI1

2.CI2

3.NO

4.CO

Question Number : 58 Question Id : 5400731358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
EEER AR IEEICCARIE: 2R
Options :

1. HC1

2.CI2

3.NO

4.CO

Question Number : 59 Question Id : 5400731359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Most convenient Spectroscopic technique to establish the presence of Intermolecular hydrogen bonding in hydroxy compounds is:
Options :

about:blank 21/37



4/2/24, 12:56 PM about:blank

1. U.V.
2. 1.R.
3.E.PR.
4. Mass

Question Number : 59 Question Id : 5400731359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

"HRIVIH BIZGIoH s RS Ah! A frd Wene eI fafd & gRT STt & 71 fosan S v 81
Options :

1. U.V.

2. LR.

3.E.PR.

4. Mass

Question Number : 60 Question Id : 5400731360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

"DEPT- Spectrum" is used to distinguish among:
Options :

1. CH3, CH2, CH groups

2. C=0 group in aldehydes & ketones

3. —OH group in alcohol and phenols

4. All above group

Question Number : 60 Question Id : 5400731360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DEPT WaeH far1 gt & IufRUfY a1ea IudivT & amn e g
Options :

1. CH3, CH2, CH 9¥g

2. C=0 GHg (VEEIE3S 3R Hici)

3. ~OH g (Tehiecd 3R fohrea)

4. IWIed gt

Question Number : 61 Question Id : 5400731361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following will be acidic buffer?
Options :

1. H2SO4+Na2S04

2. NaCl + NaOH

3. NH4CI + NH40H

4. CH3COONa + CH3COOH

Question Number : 61 Question Id : 5400731361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
o o o w1 awfia Im 2
Options :

1. H2SO4+Na2S04

2. NaCl + NaOH

3. NH4CI + NH40H

4. CH3COONa + CH3COOH

Question Number : 62 Question Id : 5400731362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not adsorbent in chromatography?
Options :

1. Silica
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2. Alumina
3. Cellulose powder
4. NaCl

Question Number : 62 Question Id : 5400731362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFrofafed & o9 pacum! # siftive 781 3
Options :

1. Ryferept

2. TG

3. Al

4. Nacl

Question Number : 63 Question Id : 5400731363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many significant figures are there in 0.0010?
Options :

1. 04

2.02

3.01

4.03

Question Number : 63 Question Id : 5400731363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
0.0010 ¥, farat wmefes Tt 82
Options :

1.4

2.2

3.1

4.3

Question Number : 64 Question Id : 5400731364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a soft acid, according to pearson's Concept?
Options :

1. Ag+

2. Sr2+

3. A3+

4. K+

Question Number : 64 Question Id : 5400731364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR Y SraURON & AR A9 & SHYg 3t 32
Options :

1. Ag+

2. Sr2+

3. A3+

4. K+

Question Number : 65 Question Id : 5400731365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The process of converting an optically active compound into optically inactive compound is known as:
Options :

1. Resolution

2. Inversion
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3. Racemisation
4. Asymmetric Synthesis

Question Number : 65 Question Id : 5400731365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YRV UIfes fiTes B Rar srufe difftes F aivafia e @t fafy @ weerd 82
Options :

1. SIgRHA

2. 3%

3. TGATESTA

4. AT YA

Question Number : 66 Question Id : 5400731366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Following compound is: -

COOH

CH,

Options :

1. Erythro 2,3 - dibromo butanoic acid
2. Thero 2,3 - dibromo butanoic acid
3. 2R, 3R, 2,3 - dibromo butanoic acid
4. 28, 38, 2,3 - dibromo butanoic acid

Question Number : 66 Question Id : 5400731366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T Iiffe 1 8 -

COOH

CH;

Options :

1. TR 2, 3 - ST8 S AR 3
2. 90 2, 3 - BT A YIS D 3
3.2R, 3R, 2, 3 - ST8 S SGCHISD 3FA
4.28,3S,2,3 - ST8 S TR 3T

Question Number : 67 Question Id : 5400731367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The no. of optical isomers in lactic acid is:
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Options :
1.2
2.3
3.4
4.5

Question Number : 67 Question Id : 5400731367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

dfdeds ot H forda U1fRIes THTad gid 82
Options :

1.2

2.3

3.4

4.5

Question Number : 68 Question Id : 5400731368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Addition of bromine to cis -2, butene would give a product, which is :
Options :

1. Achiral

2. Racemic

3. Meso

4. Optically Active

Question Number : 68 Question Id : 5400731368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

S o, -2 g | Siies )R 4 91 IdTe a9
Options :

1. UpTXdd

2. Refi

3. T

4. UBTITY Hichy

Question Number : 69 Question Id : 5400731369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The total no. of pair of enantiamers possible with molecular formula C5H120 is :
Options :

1.2

2.4

3.6

4.5

Question Number : 69 Question Id : 5400731369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR & Sigl &1 Gal AT 1fUaeh I & forg fvaH gt
Options :

1.2

2.4

3.6

4.5

Question Number : 70 Question Id : 5400731370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Erythrose and threose are:-
Options :
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1. Diastereomers

2. Optimers

3. Cis-trans isomers
4. Meso form

Question Number : 70 Question Id : 5400731370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TR Td S Bl 82
Options :

1. SOOI

2. DR
3. Rl wwTaTa
4. 1 T

Question Number : 71 Question Id : 5400731371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ethyl acetoacetate is prepared from ethyl acetate by the :-
Options :

1. Benzoin condensation

2. Aldol condensation

3. Claisen condensation

4. Dieckmann-condensation

Question Number : 71 Question Id : 5400731371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Serrge GO, St e & 3 e Tl 8
Options :

1. dSiie Fg=H

2. TeSId Hu

3. FIG da

4. QP Ho

Question Number : 72 Question Id : 5400731372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following would react fastest with N-bromosuccinamide?
Options :

1. Benzene

2. Methane

3. Pyridine

4. Toluene

Question Number : 72 Question Id : 5400731372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
75 9 1, -9 SIS S & 9T Had d ffshar e

Options :

Question Number : 73 Question Id : 5400731373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Claisen condensation is often used in preparing?
Options :
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1. B— hydroxy ester
2. o— hydroxy ester
3. y—keto ester
4. B— keto ester

Question Number : 73 Question Id : 5400731373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

5 7 9, [P a9 § "I &1 SXT (36T STl 52
Options :

1. S-SRI TR

2. Teh1-BTIGTRT TR
3. MHI-fbel TR
4. dier-fhel e

Question Number : 74 Question Id : 5400731374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In SN2 reaction mechanism, which one of the following is the most reactive?
Options :

1. C6H6

2. CH3X

3. C2H5X

4. R2CHX

Question Number : 74 Question Id : 5400731374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SN2 wfaforar o fafeRad & 9, a9 o ufdfear s
Options :

1. C6H6

2. CH3X

3. C2H5X

4. R2CHX

Question Number : 75 Question Id : 5400731375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Reaction CH3CH2Br + OH— — CH3CH20H + Br—
Options :

1. Nucleophilic substition

2. Electrophilic Substitution

3. Nuucleophilic addition

4. Electrophilic additon

Question Number : 75 Question Id : 5400731375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g ufafosar, et IeTeR0l 8:- CH3CH2BR + OH- — CH3CH20H + Br—
Options :

1. e Fgt gfaiT

2. g AT Ui

3. NS Fel AT

4. SRRt TR A

Question Number : 76 Question Id : 5400731376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which compound undergoes substitution slower than benzene?
Options :
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OH
1.

NHCH;
2.

F
3.
OCH;

4.

Question Number : 76 Question Id : 5400731376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

35 5 A 19 A 9= &) g1 & HH Tfaim B

Options :
OH
1.
NHCH5
2.
F
3.
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OCHj

Question Number : 77 Question Id : 5400731377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Markownikoff's addition of HBr is not applicable to:
Options :

1. Propene

2. 1-butene

3. I-pentene

4. 2-butene

Question Number : 77 Question Id : 5400731377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
HBr ®T " I%-IRT" f5g TR AR el g2
Options :

1. A=

2.1-¢H
3. 1.U¢H
4. 2-9¢H

Question Number : 78 Question Id : 5400731378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the carbocation is most stable?
Options :

@
NC—*<:>F—CH2

@
HO——<:>%—CH2
c— Y8,

Question Number : 78 Question Id : 5400731378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 o Q & 1 "BrafbergT Jad sarel R g

Options :
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®
NC—@—CHZ
@
HO —@—CHZ
®
Cl —@—CHZ
O;N ®8H7

Question Number : 79 Question Id : 5400731379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The purpose of adding concentrated H2SO4 in nitration of benzene is to produce
Options :

1.NO2

2. NOc—

3.NO3-

4. NO2+

Question Number : 79 Question Id : 5400731379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FT 3T A & o1, ol &b ATSEIHRUT B g H2S04 STAT STl g |
Options :

1.NO2

2.NO2—

3.NO3-

4. NO2+

Question Number : 80 Question Id : 5400731380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Write the name of the following reaction.

Li / liq. NH,

C,H50H

Options :

1. Kuch reaction

2. Robinson reaction

3. Birch reduction

4. Clemmensen reduction

Question Number : 80 Question Id : 5400731380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

far fAfRar 1 a7 [ifg: -

Li / lig. NH5

C,H50OH

Options :

1. g Sfufesar

2. S i
3. 59 3T

4. FAUTEA U

Question Number : 81 Question Id : 5400731381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Formation of paracetamol from p-amino phenol is :-
Options :

1. Chemoselactive reaction

2. Regioselective reaction

3. Chemoselective and Regioselective, both

4. Stereospecific reaction

Question Number : 81 Question Id : 5400731381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

p-TH! BTe & RIRFETHIA S &1 fobdl dgan 8.
Options :

1. fprdifaea wfdfosar

2. Ao Faifdea fdfesar

3. fep it Aetfered wd diforat Atferea, At

4. R4 Yeifde wfafsar

Question Number : 82 Question Id : 5400731382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ag—Pb system at Eutectic point has no. of phases:-
Options :

1. One

2. Two

3. Three

4. Five

Question Number : 82 Question Id : 5400731382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

RyeaR-ae &= 8 e wifaw fig R vawmsil o We g:-
Options :

1.Un

2. d

3.d4

4. 919

Question Number : 83 Question Id : 5400731383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Relation between vapour pressure and temperature is given by:-
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Options :
1. Gibb's Helm holtz equation
2. Gibb's Duhem equation
3. Clausius clapeyron equation
4. Kirchoff equation

Question Number : 83 Question Id : 5400731383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I 9 UG dATIHH & st Ja ST 8-
Options :

1. i gorgleas gHieRur

2. Freq Sgd w0

3. FARYTY FAURT FHIBT

4. Tz FHiaol

Question Number : 84 Question Id : 5400731384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to Nernst heat theorem, AG & AH becomes equal at:-
Options :

1. At 1000C

2. At absolute zero

3. At 00C

4. None of the above

Question Number : 84 Question Id : 5400731384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TIC & IS YHT & AR AG TUT AH TRI&R &l 911 §-
Options :

1.1000 CTR

2. RAYI AU R

3.00C™®

4. DI Wt Tl

Question Number : 85 Question Id : 5400731385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hess's law is based on which law of thermodynamics?
Options :

1. Ist

2.2nd

3.3rd

4. Zero

Question Number : 85 Question Id : 5400731385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

&1 &1 gy STt & e fom W emerfa 82
Options :

1. 94"

2. fgdig

3.l

4.3

Question Number : 86 Question Id : 5400731386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which enthalpy is always negative?
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Options :
1. Enthalpy of formation
2. Enthalpy of Solution
3. Enthalpy of Melting
4. Enthalpy of Combustion

Question Number : 86 Question Id : 5400731386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
HH T TR gea BT St 32
Options :

1. gRIa BT SR

2. foerm &t st

3. 76 Bt SR

4, ST BT SR

Question Number : 87 Question Id : 5400731387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Relationship of e.m. f. and concentration is:
Options :

1. Linear

2. Exponential

3. Logarithmic

4. Non of the above

Question Number : 87 Question Id : 5400731387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g aTee Fe 3R Wt & TaY el 81

Options :

1.3
2. Uy

3. AGUDH I
4. IR H Bl T

Question Number : 88 Question Id : 5400731388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The molecule, diborane belongs to the symmetry point group?
Options :

1.C2v

2.C2h

3.D2d

4. D2h

Question Number : 88 Question Id : 5400731388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SEARA BT 3] b g g THe T ¥ Taifdd g2
Options :

1.C2v

2.C2h

3.D2d

4.D2h

Question Number : 89 Question Id : 5400731389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Tarnishing reaction is a good example of
Options :
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1. Decomposition reaction
2. Gas-Solid reaction

3. Solid-liquid reaction

4. Non of the above reaction

Question Number : 89 Question Id : 5400731389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Options :

1. fage fdfsar

2. -3 fafosar

3. 319-5d ufdfehar

4. 318 Wi =gt

Question Number : 90 Question Id : 5400731390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
"Frenkel defect" has been found in:-
Options :

1. NaCl

2. CScl

3. Kcl

4. AgCl

Question Number : 90 Question Id : 5400731390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Options :

1. NaCl

2. CsCl

3. Kel

4. AgCl

Question Number : 91 Question Id : 5400731391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Lantharides from ce(58) to Lu(71), value of corresponding ionic radii:-
Options :

1. Decreases

2. Increases

3. Remains unchanged

4. Do not follow any order

Question Number : 91 Question Id : 5400731391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AUIEEH H ce(58) Is Lu(71) b D BT b1 A HH:-
Options :

1. gearg

2. 9518

3. SfaRafid @ &

4. PEHHTRIEAE

Question Number : 92 Question Id : 5400731392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one has highest hydration energy?
Options :

1. Na+
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2. K+
3. Lit+
4. Cst

Question Number : 92 Question Id : 5400731392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFrofared & 4 fege! oo Iof 99 ot 82
Options :

1. Na+

2. K+

3. Li+

4. Cs+

Question Number : 93 Question Id : 5400731393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Effective Atomic Number (EAN) in [Fe(CN)6]4 ion is :-
Options :

1.33

2.34

3.35

4.36

Question Number : 93 Question Id : 5400731393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
[Fe(CN)6]4— Bt THTdT TRHATY] TS 82
Options :

1.33

2.34

3.35

4.36

Question Number : 94 Question Id : 5400731394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which is diamagnetic?

Options :

1. Cr2+

2.V2+

3. Ti3+

4. Sc3+

Question Number : 94 Question Id : 5400731394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
D T 3 T 82
Options :

1. Cr2+

2.V2+

3. Ti3+

4. Sc3+

Question Number : 95 Question Id : 5400731395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Oxidation number of Ni in [Ni(CO)4] is:-
Options :

1. Zero

2.2

3.4
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Question Number : 95 Question Id : 5400731395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
[Ni(CO)4] B FAfra (Ni) BT 3iferiien=ur TveT &:-

Options :

G
2.4

3.dR
4.:

Question Number : 96 Question Id : 5400731396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The no. of 3¢ - 2e bond present in AI(BH4)3 is:-
Options :

1.4

2.3

3.6

4.0

Question Number : 96 Question Id : 5400731396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Al(BH4)3 § foreH 3¢-2¢ 94 Bl 82
Options :

1.4

2.3

3.6

4.0

Question Number : 97 Question Id : 5400731397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SiF4 has a:-

Options :

1. One fold axis -C

2. Two fold axis - C2

3. Three fold axis - C3

4. Four fold axis- C4

Question Number : 97 Question Id : 5400731397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SiF4 A g B

Options :

1. T&p T[fOrd wHfHfd 3féf-C

2. g fora wwfafa srer-c2

3. B Tgfora wafAfa ere-c3

4. Igd TIOrT TAiTT stef-ca

Question Number : 98 Question Id : 5400731398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Number of 13 C NMR Signal is Fe(CO)5 is :-
Options :

1.1

2.3

3.2
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Question Number : 98 Question Id : 5400731398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fe(CO)s H fha 13 CNMR R 8id 82
Options :

1.1

2.3

3.2

4.5

Question Number : 99 Question Id : 5400731399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Complexes with bidentate ligands are called:-
Options :

1. Ligands

2. Chelates

3. complexes

4. None of the above

Question Number : 99 Question Id : 5400731399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

R Scc sy, & Y, PR HEaAd §:-
Options :

1. feriga

2. 9y

3. ISl

4.5 ToI

Question Number : 100 Question Id : 5400731400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Number of unpaired electrons in [Fe(CN)6]4— are:-
Options :

1.4

2.2

3.1

4.0

Question Number : 100 Question Id : 5400731400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
[Fe(CN)6]4— T Bt fobem 3rgfitd goiaera gl
Options :

1.4

2.2

3.1

4.0
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